Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-V « EXAMINATION - SUMMER - 2014

Subject Code: 351904 Date: 31-05-2014
Subject Name: Tool Engineering
Time: 02:30 pm - 05:30 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (@ Explain trouble shooting approaches used in tool engineering. Also 07
explain methods used by tool engineering.
(b)  Explain functions of tool engineering in brief. 07

Q.2 (@) Prepare an operation sheet for the component shown in figure-1. 07
(b) Calculate (1) Labour cost (2) Setup cost (3) maintenance cost and 07
down cost using below given details.
A. Machine set up time = 50 minute for one set up
B. Non machining time = 30 minute for one casting
C. Machining time = 20 minute
D. Tool sharpening time =5 minute
E. Fatigue allowance = 25%
F. Personal allowance = 5%
G. Tool changing time = 8 minute
H. Tool life = 10 hours
I.  Gauging time = 20 seconds and 5 checks per casting
J. Performance factor =0.3
K. Labour cost = Rs.15 per hour
L.  Number of castings = 30

OR

(b)  Explain principles of tool economy for direct ,indirect and fixed 07
costs.

Q.3 (@ Explain heat treatment of tool steel briefly. 07
(b) What is nose radius ? List the factors affecting nose radius. 07

OR
Q.3 (@)  Write steps used in tool design. Also explain any three steps. 07
(b)  Give definition of tool geometry. Also explain tool geometry of 07

single point cutting tool with neat sketch.

Q.4 (@) Difference between jig and fixture. 07
(b) Explain 3-2-1 or 6 point location principle. 07
OR
Q.4 (@) Points to be considered during designing of jig and fixture and 07
explain any two.
(b)  Explain elements of milling fixtures and their functions briefly. 07
Q.5 (@) Explain effect of clearance. Also explain More clearance, Correct 07

clearance, Less clearance.

1/3



Q.5

(b)

(a)
(b)

Explain “ Taylor principle of guage design.”

OR
Difference between compound die and progressive die.
Classify gauges.
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